
h+*r = (*), ( Ð
€

ñ,=(*),-f ,'
L/1

f-* =fi
h+Çs = x

Ó/ , -à -^1f

h+xá = ({J +/ ' Qó

.,

h

d&
h+Y,' =

¡-Ç ={l
I

ffi =x,

(,- r"s

\

x)(
t*

t?
Í-na Z 3

I
I _J

€
IL-çl

á -çr,7,- (+ z+t =( L) ço
(¿),-

I
-çl
t

5'a
E

t.*ã 3

L
bl-tt---_

Z+z.t '
tt7

( ç

=#),-Ç Ø

LJ) tc --I L- s.l

(q fl

(x), _ ¡ ,r
.-x f- =Q{ (lc

?++ =Q),-6

l+th=(n/,-J',-
I?n -- *h

l-l

7fi=x
(^7,- l""l
*=try*(J

t-
----aZ- l) =("), -

.+Ç-

bt=
A z-(t)6 = (L)

/-z n

g z-(e t¡5 = çer)

z-lÉ = 816

79rþu)ùlÌ Ít
5= X,

-(Ð-ì-#4.
zlXr =

6

" Ql

6 (v
I

(?+x/ s- = ("),- l-a
Çot-l*,9- =

6
ç
f- = Z*X

z- 61-'x
!""
={

lr.F

5-(Ðt(t t'z --(^t¡ (q

y=(r,+ ,*l+

f, : (x21 (r

L-t, = (r, +
¿+x = (a¡(v'?

y+
x,

Ç

AZ O] "l ìh
Ft la

,Ì



2 . 7¿'^+ Plbo 
#z olu* ctzt t"t "t/ù,*.

3" -l¿ 'rl P t¡') ,'Jq ¿- t¿^ø ,n h"^il^rf--
lbz 4 t3

q' -Tæt' 
P , lbo {3

*tg = zr'- l

l^- / -'r*l

2*--ty
x+r Iz

<-

J=l &!
(FT
l)z "^-l +1,'e ìnu¿rsz ù nut o{-'el-'>" '

z
I



l,ù o-ot .)

ê ø,p>

3¿Ð
t

€ z¡l)

6 , ^) f-. 
-Ê -'¿*)

{= - t -5

I tïxerzlxs-zJ

n lgqe'&þt.>z{

d) v:þeel

b)

x ß:

xzsJ

3-1a): J
-z)

- 2-l Ineide.t*rrl\,

,-1.)
-'(*) = - ( À'-.z/

Ð Þ'" |xeal x t 4
K""-l+'*rl + 'u)f I

y+z

xtl = -LR> yt'
q*Z = I
lu x+l

9
=- I _L

x+5




